MashMake
Stnavi
MashMake
MashMake Stnavi



B
| etk - B EMHED A Lre n T T T
T
[mAzporn L
\ AN A
" I
MashMake StNawi
(MM AANE YT ) (FERWMAHNES > 1)
- —
= o =
Oy 2b — T
- A —>
-+~ >
Oo
{Y}
{x}
{v}=[Dfix}



s B B B B

200

100




2 2
o 100, 1 0% oof, &,
r or r 2 r

¢ o
a2

1
+
N N
|
N
[N
+
[08]
q‘>|9’>
N—
8
wn
N
S
| I

o, =0 7,=0
o, =0, —20,€0s20
o, (4
0=0 7
0=+7x/2

0=0rn

SRR

G.Krisch(1898)




(5).(6)

1
e
Y.
oy
L&
05
[FE ]
03
b2
o
a

-0

1 . . . . - — - . - . - .- -
40 60 80 100 120 14D 160 160 200 230 M0 260 30 300

X mars

(a)x o, /%%
o, o, Tio
o =34 (a_z_a_“j
2%z oyt
o",,7—0'(,(1+i a—§+§~a—4J
2r 2r
7,,=0
(8),(9) a=40
: 140 554020241 EA0=4h"d —
18
28
24
22
2
1B
1.8
14
12 S|

(@

1
40 &0 B0 100 %20 740 'S0 1890 200 F20 240 FEOD 80 300

Y-ans
Oy / Og

BZ— e EY. _[15 £ ZELT. -sl:‘,al.... ._.ﬁ__.- =
a o —— —
¥ i
ozl |
II
|
-0t
|
Nl -] |
[
-0EE
= | F I e S —
&0 B3 AD 100 120 140 160 180 200 20 740 60 280 300
A-AnS
(b) o,/
(1) (3) 6 =90°
— 10
(=1
1 5[4 I 2= 24 D=4 =4}
035
[=E
03%s |
= ]
DS H
R
0.0%5

=)
40 80 B0 100 120 740 160 TH0 I 220 240 BED 260 300

(b)

-
o / Og




Howland

2a

10

oo
1930 W ,@:ID\/ET. &
oo S

a=40 W 100 ¢ 200

"

E
10 1,|||' k\--_--"} =
Kt W
W=100 a 40 Ke 2.22
Cpmax = Ki LO'O = 2.22xﬂ =3.70
W-a 100-40

-
o n a

0

FIM SR o L R

® | Howtand )

el ]

b=l 2

=]

(T E

ab=lh

E"'l.l [ |fl'|}
al W
10
'R b0 ab=0.1 abe=0.2 ab=03 /b= 4 ab=0.5

0 100 10 SR 11,26 144 -1.58
IL: 4,73 0.74 082 4,95 -1.12 g
30 0,00 0.01 006 20,15 0,30 0.51
45 1.00 100 100 0.98 091 077
&0 2,00 201 207 215 225 232
74 273 274 185 3.03 132 372
a 300 M 314 336 174 132




4.2
(b)

o

00

200

5 -'.-‘l'--lli:"":::
A Vo Pl T :
R AV Vi Wi Pl P P

ATV Vo P W
RV W Wi WPl Pl W P
(a)
11
(a)
10MPa
o, =30, o, =3.70,
(@) 45 50
11(b)
(b) (b)
oy =0 (b) 50 60
Y = 03707 y 100 0 40
0 90° 11(a) 30.0MPa
10.5MPa 4.2
o, O, Ty o,

o, =0,8Nn%0+0, cos’ §—2r,, sinfcosd
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